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S-1)	Aşağıdaki Transfer fonksiyonu verilen ifadenin ters Laplace dönüşümünü bulun
			
S-2)	Aşağıdaki dif denklemlerinde r(t) giriş, y(t) çıkış ve başlangıç şartları 0 olarak alındığında Y(s)/R(s) ifadelerini bulun.
[image: ]
S-3)	Aşağıdaki blok diyagramı verilen sistemin transfer fonksiyonunu ve karakteristik denklemini bulun
[image: ]
S-4) Aşağıdaki sistemi  şeklinde yazın
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S-5) Aşağıdaki verilen sistemde girişin 5u(t), 5tu(t), 5t2u(t) olaması halinde kararlı hal hatalarını bulun
[image: ]
Süre: 90 dakika						Başarılar. Doç. Dr. Mahit Güneş
CEVAPLAR
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348 Chapter7  Steady-State Errors

B ronmn [ m6rn ci_ SOLUTION: First we verify that the closed-loop system is indeed
ey stable. For this example we leave out the details. Next, for the input
Su(s), whose Laplace transform is 5/s, the steady.-state error will be

five times as large as that given by Eq. (7.12), or

FGURE 7.5_Feedback cotrlssem for s s s
Exampe 72 ) u0le) G T T

(7.24)

‘which implies a response similar 1o output 2 of Figure 7.2(a).
For the input St(0), whose Laplace transform is 5/, the steady-state error
will be five times as large as that given by Eq. (7.16), or

s s
) = cums(%9) = 5 =5 125)
which implies a response similar to output 3 of Figure 7.2(b).

For the input SFu(t), whose Laplace transform is 10/, the steady-state error
will be 10 times as large as that given by Eq. (7.20), or

0 _10

€00 = e =7 =5

(7:26)

O ol 7.3 D

Steady-State Errors for Systems with One Integration
PROBLEM: Find the steady-state errors for inputs of Su(t),

R, 1006+re) ) Stu(t), and SPu(t) to the system shown in Figure 7.6. The
3 et Herd) function u(7)is the unt step.
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FIGURE 7.6 Feedback controlsystem for Example7.3  deed stable. For this example we leave out the details. Next
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2-29. The following differential equations represent linear time-invariant systems, where r(f)
denotes the input and »() the output. Find the transfer function ¥(s)/R(s) for each of the systems.

(Assume zero initial conditions.)
3. 2,
0,850,550 340
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2-30. Use MATLARB to find Y(s)/R(s) for the differential equations in Problem 2-29.
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